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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.
2. Attempt all questions.
3. All (jtiéétions carry equal marks.
4. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.
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“Industrial relations is a superimposition of the industrial cloud over Human
relations”. Do you agree with the statement ? Explain. ) (15)

OR
What are the constituents of Industrial Relation system ? Explain it scope and

functions.
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“One day there was an altercation between two workers of a factory and within
few minutes they started giving blows to each other”. Can you call this event an

Industrial dispute ? Explain the statement with legal provisions ? (15)

OR

“In Indian Army, Navy and Air force, disputes between the employer and

workers are not considered as Industrial disputes”. Why ?- Explain with -
reasons. | _ (15)
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“There is no full proof method of Prevention that can work as an anti dot against
the disease called Industrial disputes”. Elucidate this statement and explain the
methods of prevention of industrial disputes. (15)

OR

“Industrial disputes can never be solved without the intervention of a third party”.
Give your opinion on the statement and explain the forums involving third party
in the process of settlement of industrial disputes.
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Comment at length “Strike should be the last resort in the armory of labour™. (15)

OR

What are the good and bad effects of industrial disputes ? Should workers have
the right to strike ? (15)
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Write short note on any three of the following :
(a) Bandhs

(b) Gherao

(¢) Picketting

(d) Pens down strike

(e) Work to rule (5 marks each)
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